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Thursday, September 8, 2011

--- On commencing at 9:30 a.m.

MS. CONBOY:  Good morning, everybody.  Please be seated.

The Board is sitting today in the matter of application EB-2011-0226, filed by Enbridge Gas Distribution on June 20th, 2011.

This application was filed under section 36 of the Ontario Energy Board Act for an order approving Enbridge customer care and customer information system costs for the years 2013 to 2018 inclusive.

The application indicates that Enbridge's current customer care arrangements terminate as of April 1st, 2012, unless Enbridge gives notice before October 1st of 2011 that it wishes to temporarily extend those arrangements.

The application further states that Enbridge has undertaken a comprehensive process, with active participation of a stakeholder steering committee comprised of representatives of three active intervenors in Enbridge's regulatory proceedings, to evaluate customer care arrangements options after April 1st, 2012.

Enbridge indicated this process has resulted in an agreement with Enbridge's current service provider for an update and extension of the current customer care service agreement, but that the agreement is conditional on Enbridge receiving OEB approval for the recovery of costs charged under the agreement by September 15th, 2011.

The application also seeks approval of Enbridge's other customer information system and customer care costs over the period of 2013 to 2018.

The Board set out a process with a view to making Enbridge targets time lines possible.  That process allowed for intervening parties to review and ask questions about Enbridge's prefiled evidence through interrogatories and for a technical conference.  Parties also had the opportunity, as part of the technical conference, to ask questions of the expert who supported the activities of the stakeholder steering committee.

This process culminated in a settlement conference held in late August 2011, which, in turn, resulted in the settlement agreement on all matters and issues in this application.  The Board did indicate that any settlement proposal filed shall provide sufficiently detailed explanation and justification, based on the evidentiary record, for the settlement of each issue to allow us to fully understand the nature and the basis upon which a settlement was reached.

The Board is sitting today to hear presentation of the settlement proposal and ask its own questions, but I did want to take note at the outset that we were greatly assisted by the explanation and justifications provided in the settlement proposal.

With that, I will ask for appearances, please.
Appearances:


MR. STEVENS:  Good morning, Panel.  I am David Stevens.  I am here on behalf of Enbridge Gas Distribution.

MS. CONBOY:  Good morning, Mr. Stevens.

MR. SHEPHERD:  Good morning.  Jay Shepherd on behalf of School Energy Coalition.

MS. CONBOY:  Mr. Shepherd.

MR. WARREN:  Robert Warren for the Consumers Council of Canada, and may I please enter an appearance for Mr. Thompson, who has been very active in this process, but who has, for a number of reasons, stayed in Ottawa today.  He has said that if I pooch something, he is available by phone to correct my errors.

MS. CONBOY:  Thank you, Mr. Warren.

MR. BUONAGURO:  Michael Buonaguro, counsel for VECC.

MS. CONBOY:  Good morning, Mr. Buonaguro.

MS. SEBALJ:  Kristi Sebalj for Board Staff.  I'm companied by Colin Schuch and Lawrie Gluck.

MS. CONBOY:  Thank you.  Are there any preliminary matters before we go to the settlement proposal?

Okay, thank you.  Mr. Stevens.
PRESENTATION OF SETTLEMENT AGREEMENT BY MR. STEVENS:

MR. STEVENS:  Thank you very much.

At the outset, we would like to express our thanks to the Board and to parties for accommodating this very expedited schedule.  I know it has been a lot of work for everybody and we are really appreciative of the efforts everybody has made to get us here today.

MS. CONBOY:  Thank you.

MR. STEVENS:  With that, I am pleased to present to you today the settlement agreement which has been endorsed by Enbridge and its stakeholder agreements, which represents a complete settlement of all the matters in this application.  As you know, these matters relate to most of Enbridge's CIS and customer care costs for 2013 to 2018.

This morning, I would like to spend some time highlighting a number of items from the settlement agreement, with particular focus on the operative parts of the settlement agreement that will apply to the setting of related revenue requirement for 2013 to 2018.

And, also, by way of introduction, Enbridge has a number of witnesses here today to answer any of your questions that I can't address.

These individuals also participated as witnesses at the technical conference on August 17th, and they're sitting with me now.  They are Michael Mees, who until recently was Enbridge's director of customer care; Stephen McGill, manager within Enbridge's customer care group; Kevin Culbert, who is Enbridge's manager of regulatory accounting; and Robert Wood, who is an independent consultant who assisted Enbridge in its customer care strategy and negotiations with Accenture.

So with your leave, what I propose to do is to make some comments and explanation around the settlement proposal and answer any questions that you may have, and then, to the extent that there is any questions left over of an evidentiary nature, we would be pleased to present the witnesses to answer any of those questions.

MS. CONBOY:  Thank you, Mr. Stevens.

MR. STEVENS:  At the outset, I will apologize for my muffled voice.  I am suffering from a bit of a summer cold, so I will do my best to make myself understandable, but if I am mumbling my words, please stop me.

MS. CONBOY:  You have never appeared before me, so I won't know a muffled voice from your true voice.

MR. STEVENS:  As you have set out, the Board's procedural order directed that if the parties were able to agree on a settlement, then the resulting settlement agreement should provide a sufficiently detailed explanation and justification, based on the evidentiary record, for the settlement of each issue to allow the Board to fully understand the nature of and the basis upon which a settlement was reached.

Keeping that direction in mind, the parties prepared a comprehensive settlement agreement setting out the factual and evidentiary basis for the settlement that was reached.

The settlement agreement described not only the agreement reached in respect of the customer care and CIS revenue requirement, but also the background and context and rationale for the agreement.

The settlement agreement describes at pages 6 to 10 the background and context that led to Enbridge's application seeking separate treatment of its CIS and customer care costs for the 2013 to 2018 term.

This background and context is important as the foundation to the settlement that has been reached.  So if it would be helpful to you, I could spend a little bit of time going through pages 6 to 10 of the settlement agreement with you.

MS. CONBOY:  I think that it is self-explanatory in pages 6 to 10.  So maybe we can just get to the meat of the settlement.

MR. STEVENS:  Very good.  Moving on, what I would like to focus on is, as you said, the meat of the settlement, which is contained in the section that is called "Terms of Settlement".

That is set out starting at page 11.  What I propose to do is go through that section of the document and highlight what we believe to be the key points, and I would ask you to please feel free to stop me and ask any questions as they arise.  And, equally, if I am going through things in excruciating or unnecessary detail, please stop me then, also, and move me along.

MS. CONBOY:  Thank you.

MR. STEVENS:  Turning to page 11, the fundamental aspect of this settlement agreement is that the parties have agreed upon Enbridge's revenue requirement for CIS and customer care services for the period between 2013 and 2018 on a cost per customer basis.

This means that for each year, from 2013 to 2018, Enbridge's total revenue requirement for the CIS and customer care services set out in the attached template will be determined by multiplying an agreed cost per customer by the forecast number of customers for each year.

The agreed cost per customer was set, in the first instance, based on what parties set as a reasonable level of costs for Enbridge to recover, and then, in the second instance, that agreed cost was smoothed to provide for a pattern of recovery that minimized the increase in costs per customer from 2012 to 2013.

So as you will have seen, the costs per customer that has been agreed upon is set out at line 17a of the template, and then the smoothed cost per customer to be recovered is set out at line 24 of the template.  And just for your reference and for the record, the template I am referring to is the updated 2013 template which is found as appendix A to the settlement agreement at page 43.

MS. CONBOY:  Mr. Stevens, one of the questions or a few of the questions that the Board had did relate to the assumed number of customers that were used for different calculations for the customer care costs, which were brought up to arrive at your 300,000, and then divided back through to arrive at an overall per-customer cost number.

So as you are going through your explanation, if you could keep that in mind, that we weren't quite clear on reconciling the numbers of customers in the multiplier or in the divider.

MR. STEVENS:  Sure.

MS. CONBOY:  Thank you.

MR. STEVENS:  Thank you for that.

As a preliminary matter, I will point out that the costs per customer agreed upon through the settlement agreement is premised on the definition of "customer" that is found in the customer care services agreement or CCSA with Accenture.

The definition of "customer" in that agreement is slightly different from the definition of "customer" that is ordinarily used by Enbridge.  And the way that it is slightly different is the CCSA definition includes customers who are locked.

So those are customers who are Enbridge customers, but for reasons of non-payment or something similar, they're not currently receiving service.

I am told that what that means, in practice, is that the CCSA definition of "customer" will result in a total customer number that is approximately 20,000 higher than the definition of "customers" that Enbridge ordinarily uses in its rate applications.

The reason why the CCSA definition of "customer" has been used in this agreement is that that definition refers to the type of customer who drive many or most of the costs in the template.

The best example of that is in line 10a, which is the biggest cost in this template; those are the costs under the Accenture contract.  The costs under the Accenture contract are essentially -- or pretty simply calculated as being a multiplier of a cost per customer times the number of customers, using the Accenture CCSA definition.

MS. CONBOY:  So including the locked customers?

MR. STEVENS:  Correct.

MS. CONBOY:  Then when you jump down to -- I don't want to get too far ahead, but then when you jump down to line 17, that is the number net of the locked customers?

MR. STEVENS:  That's correct.  Any of the costs per customers that are set out for the years from 2013 to 2018, those are derived using Enbridge's forecast of customers in line 17, and Enbridge's forecast of customers in line 17 uses the Accenture CCSA definition.

MS. TAYLOR:  So it is inclusive of the locked customers?  Thank you.

MR. STEVENS:  Sorry, that was probably a long answer to a simple question.

MS. CONBOY:  That's okay.  I was watching Mr. Culbert shake his head.  Keep going.

MR. STEVENS:  The financial consequences of the settlement agreement are set out in the updated 2013 template, which I referred you to, at page 43.

The way that the costs per customer that is set out at line 17a was derived –- and that's the unsmoothed costs per customer -- was by first accepting on a cost-per-customer basis the amounts negotiated between Enbridge and the stakeholder steering committee for the new CIS capital costs, and that's line 3, and the costs associated with the revised and extended CCSA, which is line 10a.

Then secondly, taking Enbridge's forecast of all other CIS and customer care costs in the template, at lines 4, 5, 6, 10b, 10c, 11 and 12, expressing those as a cost per customer and then reducing the results by $2 a customer, and then summing together those three items to create an overall cost per customer for 2013.

MS. SPOEL:  Can I jump in there?  When you take the costs that are referred to in lines 4, 5, 6, 10b, 10c, 11 and 12, and you express them and then reduce by $2, not -- really looking at the bigger picture, not the detail -- when you express them as a per-customer cost, are you again using the per-customer numbers used in the CCSA, the definition in the Accenture agreement for that customer, that cost-per-customer number as well?

MR. STEVENS:  Yes.  Any of the expressions of a number -- of the number of customers or any derivation of the costs per customer anywhere in the template uses the definition of "customer" in the CCSA.

MS. SPOEL:  Thank you.

MR. STEVENS:  To be clear, it is that definition that was employed to come up with the forecast that is set out at line 17.

MS. SPOEL:  Right.  Thank you.

MR. STEVENS:  Having then come up with the agreed cost per customer for 2013, parties agreed that that cost per customer would be inflated by 0.6 percent each year for the years from 2014 to 2018.

MS. TAYLOR:  Before we leave this calculation, so for instance, if we deal, I guess, solely with line 10a, the total is $300 million -- $300.8 million.

So you have taken the 300 and you have allocated it over each year of the settlement agreement, 2013 to 2018 inclusively in aggregate dollar amount, which was the first step, otherwise you wouldn't have the numerator for the 2013 year to divide by the Accenture contracted number of customers; correct?

MR. STEVENS:  Correct.  For line 10a, each of the years was derived by taking the forecast number of customers and multiplying it by the appropriate rate from the Accenture contract.

MS. TAYLOR:  Right.  I picked that one because it is the easiest.  There is a per-annum number in the Accenture contract.

MR. STEVENS:  Right.

MS. TAYLOR:  There is a similar, I guess, number annually for the CIS system, and then for all of the other costs that you add in, I guess it is not entirely clear to me how the end product that you have identified is then smoothed over the years, and then divided by the number of customers to come up with the 0.6 number per growth per annum on a per-customer basis.

So maybe you could, in the course of describing how you do that, describe the allocation of all of these costs, if it is not otherwise set out by contract like the Accenture is, how you came up with the allocation per year, which was subsequently divided by the number of customers.

MR. STEVENS:  Sure.  The way that the initial cost per customer was derived for 2013 was that Enbridge started with what it knew to be its costs for 2010 in each of the separate lines of the template.  Perhaps for these purposes we will put lines 3 and 10a to the side, but for each of the other lines, Enbridge took what it knew to be its costs in 2010 and then inflated those costs for subsequent years, based on what it deemed to be the relevant inflator.

So in some cases, that would be CPI.  In some cases, that would be wage inflation.  In some cases, like the meter-reading contract, that would be based on the contract that Enbridge knows that it has.

MS. TAYLOR:  Just to be clear, then, those inflation factors would have been present and approved by the Board in the previous settlement agreement for 2010 and 2011; is that correct?

MR. STEVENS:  I don't believe it is.  In the previous template, what was approved was Enbridge's forecast at that time of all of its costs for the 2007 to 2012 period.

And based on that forecast, the Board approved an annual revenue requirement for each year, to be recovered from 2007 to 2012.

And it is that annual revenue requirement that Enbridge has been recovering each year.

MS. TAYLOR:  But to determine the starting point for 2013, you have taken actuals in 2010 and inflated them to a number.  What, then, are the specific inflation factors that have been used to arrive at the base for 2013?

MR. STEVENS:  As I say -- and I am sorry if I am not expressing this very clearly -- these specific inflation factors are different, depending on which line is being used.

I think the best reference for this is Board Staff No. 2 or 3.

MS. TAYLOR:  Do you have a specific --


MR. STEVENS:  Sorry, in Board Staff Interrogatory No. 2, under the column titled "2013", there is a description of how Enbridge's forecast costs for 2013 were derived for each line.  What you will see as you go through is that different inflators were applied to different lines, depending on the nature of the costs in that line.

MS. TAYLOR:  I guess the essence of my question is the inflation factors that have been used in order to come up with the 2013 base may, in fact, be different than the overall inflation factors that were approved by the Board for the 2007 to 2012 term.  Is that correct?

MR. STEVENS:  Again, I am not sure that the Board explicitly approved any inflation factors for the 2007 to 2012 term.

Enbridge thought that it was a more fair expression of what the 2013 costs would be to work off 2010 actuals, rather than to use the costs that the Board had approved in 2007, which related all the way through to 2012, and then just inflate off those costs.

In other words, the 2012 costs that were approved in 2007 could be expected to be rather out of date by the time we got to that time.

MS. TAYLOR:  But there never was the numbers that are allowed to be collected in a revenue requirement for 2011 and '12, and so the question is:  If those costs for 2011 and '12 for what you are collecting the revenue requirement are in fact lower than Enbridge's actual costs and cost forecasts for 2011 and '12, you are in fact then rebasing those costs for 2013 without necessarily having achieved the Board-specific approval and its essence to do that.

There were some costs that appeared to be higher than what was allowed in the settlement agreement going into the tail end of the existing contract; is that correct?

MR. STEVENS:  I think it is correct that some of the costs were higher than previously approved.  Some were lower than previously approved.

And as you are aware, effectively what we're doing now is we're rebasing the costs as of 2013 through this application.

The result, I think, as you will see in the template at page 43, is that the rebased number is lower than the 2012 approved number.

So notwithstanding the fact that Enbridge applied all of these inflators to come up with a forecast for 2013, the reductions to Enbridge's forecasts that were agreed to through this settlement agreement have resulted in a lower revenue requirement base for 2013 as compared to what was approved for 2012.

That can be seen on line 16, the difference between box F16 and box H16.

MS. TAYLOR:  I will let you continue, but that is also a function of the opening customer number for 2013, which is almost 10,000 customers lower than the number of customers that would be used to derive the number per customer in 2012.

You have stated throughout the settlement agreement that there is some positive correlation between number of customers and costs.

So I am not going to debate the point.  I am just going to point out that it is simple math that says if your customer count is lower, then it is definitional that your aggregate total costs would also be lower.

MR. STEVENS:  I think that is a fair point.

I should point out, though, that under the years 2007 to 2012, what was fixed was a revenue requirement, not a cost per customer.

MS. TAYLOR:  Right.

MR. STEVENS:  So the 2012 number would not differ, depending on the number of customers there actually turned out to be that clear.  That is the difference between the first term of this template and the second term of this template.

MS. TAYLOR:  Okay.

MR. STEVENS:  I guess the other point I would make is that if we're looking at just the forecast of customers on this template here, we're looking in the order of a 10,000-customers difference.

So it is really not a substantial difference at all, and yet the cost difference is in the order of $2 million.

Having come up with this agreed cost per customer, if that -- if one applies that agreed cost per customer to Enbridge's current forecast of customers as is set out at line 17 of the updated template, the total -- what one derives is a total revenue requirement that would be recovered over the term of 2013 through 2018.  And that total revenue requirement associated with this cost per customer is $735 million.

As we set out at page 11 of the settlement agreement, this represents a reduction from the $758 million that was set out in Enbridge's application.

Now, in that regard, it should be noted, though, that the actual revenue requirement that will be recovered over the term from 2013 to 2018 will likely be different from $735 million, and the reason for that is that it is highly unlikely that Enbridge's forecast of customers will be precisely accurate as compared to what is actually determined on a year-by-year basis from 2013 to 2018.

I will provide some examples of that in a few minutes when I address how the proposed deferral account would work.

Turning to page 12 of the settlement agreement, you can see there is a chart there that reproduces part of the template, and what it shows is that the agreed cost per customer set out at line 17a of the updated template ranges from $55.75 in 2013 to $57.42 in 2018.

Parties have agreed this cost per customer will be smoothed over the term to temper the increasing cost per customer from 2012, which is the end date of the 2007 template, to 2013.

The smoothed costs per customer is set out at line 24 of the template and ranges from $53.50 in 2013 to $59.65 in 2018.

Assuming that Enbridge's customer forecast is correct, then the smoothed and unsmoothed costs per customer would both result in a total revenue requirement of $735 million over the 2013 to 2018 term.

I would like to next go through the details of how the costs per customer settlement was derived and how it is intended to function.

As is the case in the settlement agreement, I propose to start with the two line items that were settled between Enbridge and the stakeholder steering committee.  So the first of those is line 3, which relates to the capital costs for the new CIS asset.

As you will have seen, all parties have agreed to a $76.9 million opening rate base amount for the new CIS asset as of the start date of this template, January 1, 2013.

All parties have also agreed to a total revenue requirement to be recovered on a cost per customer basis, which would total $137 million, based on Enbridge's forecast number of customers.

That's the amount that is set out at line 3 of the template, and it is based on the updated $76.9 million opening rate base value as of January 1, 2013.

The context and basis for the agreement that's been reached in this regard is set out at pages 13 to 15, and I will highlight some of the key provisions, if you'd like.

First of all, through the 2007 agreement -- 2007 settlement agreement, the parties endorsed Enbridge's acquisition of a new CIS asset, and agreed upon an overall cost of $118.7 million, which would be subject to later adjustments or true-up if the actual costs turned out to be somewhat different.

Based on that projection of costs, it was agreed that the opening rate base amount as of 2013 would be $71.4 million.

It should be pointed out, though, that the 2007 settlement agreement expressly provided for aspects of the CIS costs to be adjusted later by setting a different rate base value if there were variances from the costs that were assumed in the 2007 settlement agreement when the actual implementation of the CIS asset was completed.

At this time, the new CIS asset is in service and it is past its warranty period, and all of the associated costs are known.  It is clear the actual costs are different from the $118.7 million that was set out in the 2007 settlement agreement.

Enbridge worked closely with members of the stakeholder steering committee to review the implementation of the new CIS asset, and it was agreed that all of the additional implementation costs associated with the new CIS asset were reasonable and prudently incurred.  And you may have noticed that there is a report from the stakeholder steering committee's expert, Five Point, setting out its conclusions in that regard, and that is found at
Exhibit B-3-2.

The additional costs associated with this new CIS asset are detailed at Exhibit B-3-1, and total approximately $8.5 million.

In their evidence at the technical conference, the Five Point witnesses confirmed that the implementation of the new CIS was successful, and it happened at a cost that was reasonable and well within industry expectations and standards.

As a result of these additional costs, the updated opening rate base value of $76.9 million for the new CIS asset is approximately $5.5 million higher than had been assumed in the 2007 settlement agreement.

What this means is that approximately $3 million of the additional costs incurred by Enbridge will not be included in the updated opening rate base value.

And the reason that those $3 million are not included is those are amounts that would have been recovered in the years from 2009, when the new CIS was implemented, and the end of 2012, when the current 2007 template expires.

Enbridge isn't able to recover those amounts because it was agreed in the 2007 settlement agreement that the amounts in line 3 were fixed, and wouldn't change even if the costs turned out to be higher.

The solution that was set out in that agreement was if the costs were higher, Enbridge could recover whatever remained to be recovered as of January 1st, 2013, and that's what's being done through this settlement agreement.

After the parties reached -- after Enbridge and the stakeholder steering committee members reached agreement on the opening rate base value, they then addressed how the revenue requirement associated with that number would be determined.  And the way that was derived is set out at page 14 of the settlement agreement.

As a result, parties have agreed that the total revenue requirement associated with the new CIS asset from 2013 to 2018 is $137 million, and that is what is set out at line 3 of the template.

In order to convert the amounts that were agreed upon to a cost per customer, these annual revenue requirement amounts were divided by the current customer -- the current forecast of customers set out at line 17.

This ended up with annual costs per customer for the new CIS asset ranging from $12.34 in 2013 to $8.93 in 2018.  And that, then, becomes, for the purpose of my presentation, the first element of the cost per customer that will be recovered for all of the costs in the template.

The second item that was agreed upon between Enbridge and the stakeholder steering committee was the costs associated with the Accenture CCSA, and that is set out at line 10a of the updated template.

As you will have seen, all parties have agreed on a cost-per-customer basis to a total cost of $300.8 million for those services over the term.  That number is, then, converted into an annual cost per customer, using the forecast number of customers at line 17.  As you will have seen, this number does not include the large-volume billing costs, which had been included in line 10 in the 2007 template.

The reason for that is Enbridge has taken the large-volume billing activities in-house now, and so those costs are now included on line 12, which is the customer care back office costs.

Would it be helpful for me to go through the context of how agreement was reached on the on the CCSA contract?  Or would you like me to skip ahead simply to talk about how the $300 million number was derived?

MS. CONBOY:  We are interested in how the 300 was derived, the process by which it is derived.  If we have any questions afterwards, we can ask it.  So we can skip through that bit and get to how that number came about.

MR. STEVENS:  Terrific.  Thank you.

Well, then what I will do is I will skip over the materials found at pages 15 to 17 of the settlement agreement, which describe the activities of Enbridge and the steering committee in negotiating with Accenture and coming up with what everybody believed to be a revised and updated CCSA in the best interests of Enbridge and its ratepayers.

The CCSA that was ultimately arrived upon had a cost of approximately $430 million from January 1st, 2011 to December 31st, 2017.

As is stated in the evidence, that represents a reduction of approximately $28 million from Accenture's first offer, which was made in the fall of 2010.

For a number of reasons, though, the $430 million value of the Accenture contract doesn't align with the amount that is entered at line 10a of the template.  And what I would like to do is I would like to explain to you how we arrive at the 300.8 number that is the total amount in line 10a from 2013 to 2018.

To do that, I would like to refer you to a document that we have provided this morning, that is titled, “Explanation of how the $300.8 million value in line 10a is derived."

MS. CONBOY:  Thank you.

Ms. Sebalj, should we give that an exhibit number?

MS. SEBALJ:  Yes.  Let's call it KS1.1.
EXHIBIT NO. KS1.1:  DOCUMENT ENTITLED "EXPLANATION OF HOW THE $300.8 MILLION VALUE IN LINE 10A IS DERIVED."

MR. STEVENS:  Should anybody need a copy, we have extra paper copies of that exhibit, and we have sent it around electronically.

Exhibit KS1.1 shows, in the top part, a reproduction of information that had been provided in response to an undertaking from the technical conference.

At the technical conference, Enbridge was asked to explain the breakdown of the $430 million value of the Accenture -- the extended Accenture contract.

What you can see is the extended Accenture contract contains costs from Accenture for mass market -- which is "MM" -- and large-volume customers, totalling $353.7 million over the 2011 to 2017 period, and it also includes costs from Accenture related to OBA, which is open bill access activities, and ABC, which is agent billing and collection support activities.

Those total $76 million, approximately, over the 2011 to 2017 term.

And the result is that there is a total contract value from 2011 to 2017 of $430 million, and that is what had been negotiated with Accenture.

As we have set out in the evidence, the Accenture contract also contained two extension options for 2018 and for 2019.  We have only -- because only 2018 is relevant, we have only included those costs for 2018, but you can see in the top right part of this exhibit that there is total costs of approximately $58 million for 2018 for mass market and large-volume activities, and of approximately $13 million for open bill and ABC activities for 2018.

Line 10a of the updated template is intended to capture all of the Accenture contract costs from 2013 to 2018 for services provided in respect of Enbridge's ratepayers.

MS. TAYLOR:  Sorry, just to be clear before you go on, so you talked about the extension for 2018 to 2019.  I am taking from this, as well as the rest of the agreement, that you have, in fact, or intend to exercise that option.  Have you done so, as well, then, for 2019, or maybe you want to disaggregate that statement to the assumptions I am making about extension for 2018?

Are you seeking approval for costs in 2018 when you had not yet extended?

MR. STEVENS:  That is correct.  There has been no extension through to 2018.  That doesn't have to be done at this time.

It is a right that Enbridge has that doesn't go away until the expiry of that extension.  In other words, Enbridge would have until six months before the extension period to invoke the extension option.

MS. TAYLOR:  So by June 30th of 2017, you need to advise them?

MR. STEVENS:  That's correct.

MS. TAYLOR:  For both years or one each?

MR. STEVENS:  There is a couple of ways that could happen.  Enbridge could invoke a two-year extension all at once, or it could do them one year at a time.

MS. TAYLOR:  Practically speaking, given the lead time to procure alternatives, can you talk to me a little bit about the time, given this was an expedited process with consultation leading into it, but a very -- a brief window for the Board to get its head around a substantial portion of the revenue requirement?

So given the notice provisions in the agreement, the time required to do alternative bidding and some other form because it doesn't appear you have arrangements beyond this extension for anything longer, practically speaking, when will you have to give notice in order to either exit from this contract for January 1st of 2018 and -- I am trying to get my head around the timing here.

Six months is not enough to solicit a new bidding process, get the Board's approval, get everybody on side.  So when, practically speaking, are you going to -- nevertheless, we seem to be approving costs for 2018 when there is no certainty they in fact will be incurred.

MR. STEVENS:  I think there is certainty that customer care costs will be incurred.

Whether this contract extension is actually put into force or not, you are right; that is an open question.

There is no question that Enbridge will have to incur costs, either itself or to a service provider, to get the services provided under this contract.

I believe that all parties have agreed that this is a reasonable proxy of what those costs would be, even if they weren't to be obtained through an extension of the Accenture contract.

In terms of timing, though, you are absolutely correct.  You will have seen in the evidence in this case that Enbridge started its process of determining how it would try to evaluate options and move to an RFP, or not, approximately two years before the expiry of the current Accenture CCSA.

And with that in mind, I would expect that the process of considering options for moving ahead after the end of 2017 would likely start some time well before then.

MS. TAYLOR:  Just to be clear, because you do have the option to extend for the two years all at once, is there a number attached to the services in total for 2019 that you have the capacity to bind -- you would obviously have to seek the Board approval to pass that cost through rates for 2019.

MR. STEVENS:  I know that we could calculate whatever the equivalent number is for 2019.  If you would like, I would be happy to get that answer for you.

I can advise you that we're certainly not seeking any approval of those amounts.

MS. TAYLOR:  I recognize that.  So I think just from an informational point of view for the record, I think that number is useful to have on hand, if they have the capacity.

MS. CONBOY:  Is it more a question of process?  Then what you're saying here is, Let's get approval, if we can.  If we want to extend the contract by one year, we have the capability -- and we won't have to come back to the Board and get approval if we decide to exercise that option.

If, however, we find ourselves in 2017 and we want to extend the contract for two years, then we do have to -- "we", being yourselves -- then you would have to come back to the Board and seek an extension for those two years?

MR. STEVENS:  That's correct.  As part of whatever the rate-setting process was for 2019, Enbridge would have to seek approval of its customer care costs for that year, because they would not, in any way, be part of what is being approved under this settlement agreement.

MS. CONBOY:  Okay.

MR. STEVENS:  Whether Enbridge would do that by further extending the approach that we're talking about today or not, I can't say that at the moment.

MS. CONBOY:  Fair enough.  It was more of a process question.

We are here today talking about 2018, and if you find yourselves in 2017 wanting to extend it, you are back in front of the Board?

MR. STEVENS:  That could well be, that if there is another lengthy contract extension, either with a new service provider or with Accenture again, then that might be the subject of a further Board proceeding to determine the propriety of the contract being proposed at that time.

MS. CONBOY:  Thank you.  If you would just give me one moment, please?

[Board panel confers]

MS. TAYLOR:  To be clear, then, so you do have a contract cost for 2019.  You haven't disclosed it?

MR. STEVENS:  We would have to calculate.  It has certainly been disclosed, in the sense the entire contract has been established.

MS. TAYLOR:  -- establishing the cost is known at this juncture.  You just simply haven't done the calculation; is that correct?  It is in the contract with Accenture, is it not?

MR. McGILL:  It is in evidence already.

MS. TAYLOR:  Is it in evidence already?  Then that's fine.

MR. STEVENS:  If we can, we will find the evidentiary evidence and provide it to you.

MS. TAYLOR:  Thank you.

MS. CONBOY:  Please move on, Mr. Stevens.  Thank you.

MR. STEVENS:  So with reference to Exhibit KS1.1, I was speaking about how the $300.8 million total value on line 10a was derived.

As is explained at page 17 of the settlement agreement, there is a number of adjustments that need to be made to the $430 million contract -- Accenture contract value to get to the proper amount in line 10a, which represents the Accenture contract costs for Enbridge ratepayers from 2013 to 2018.

Each of those adjustments is set out in the exhibit that I provided.

The first adjustment is that the 2011 and 2012 costs must be removed.  They're clearly not at issue within the 2013 to 2018 time frame.

The second adjustment is that the 2018 costs for mass market and large volume customers have to be added, since they were not included in the $430 million total.

The third adjustment is to remove all of the large volume billing costs through the relevant period.  The reason for that is that while those costs were part of the Accenture contract quote, Enbridge decided to move those activities in-house, so those activities will no longer be provided and serviced by Accenture.

So, instead, the costs associated with large volume billing have been moved away from line 10a and they have been moved into line 12 of the template.

The fourth adjustment to be made is to remove all of the costs from the Accenture contract related to open billing and agent billing and collection.  And the reason for that is that those costs are not charged to ratepayers, since they don't relate directly to ratepayer activities.

The result, as you can see, is that the annual numbers from 2013 to 2017 are lower than the annual numbers that added up to $430 million, and the addition of 2018 is not as big as the subtraction of 2011 and '12, with the result being that the overall number is lower than the Accenture contract and it adds up to $300.8 million.

MS. SPOEL:  I just want to clarify one thing.  So when you move the large volume billing activity out of the Accenture contract that, I assume, is the reason for the fairly large jump in line 12 from the 2012 number of 3.5 million to the 2013 number of 6.5 million?  If you look on the updated 2013 template.

MR. STEVENS:  Yes, I think that is a fair observation, that we're looking at the movement of approximately $2.6 million, solely related to large-volume billing, which was not in line 12, you are correct, in 2012.

MS. SPOEL:  So that is the bulk of that increase?

MR. STEVENS:  Correct.

MS. SPOEL:  Okay.  Thank you.

Sorry, while I was looking at that and trying to figure it out, I missed your comment about the OBA and ABC costs.  Those, I take it, are because they're not utility ratepayer -- they're not paid by the --


MR. STEVENS:  That's right.  So while they are part of the Accenture contract costs, they're not something that are being collected from Enbridge ratepayers.

MS. SPOEL:  Fine.  Thank you.

MR. STEVENS:  In gas rates.

MS. SPOEL:  Right.

MS. TAYLOR:  So just to be clear, because these numbers have moved around, particularly in all of the responses to the technical conference where these costs were coming out and being reallocated, they do not occur, then, that portion that you're saying are not paid for by ratepayers, they do not, then, appear in any other line of the 2013 template; is that correct?

MR. STEVENS:  My understanding is there is no direct cost anywhere in the template that relate to ABC or open bill activities.

I don't think that is a complete answer, though, because something like the CIS would support those activities to some extent.

MS. TAYLOR:  But importantly, the numbers that you have deducted in KS1.1 do not otherwise appear in any other line of the 2013 template?

MR. STEVENS:  Oh, I'm sorry.  That's correct.

MS. TAYLOR:  Thank you.

MR. STEVENS:  So that's the context for the agreement on line 10a to $300.8 million, which then, as you know, has been converted to a cost per customer ranging from $22.34 in 2013 to $24.13 in 2018.

As you will have seen, there was no prior agreement between Enbridge and the stakeholder steering committee on the costs in the template, other than those at lines 3 and 10a.

All of these other items were addressed and resolved through the process that led to this settlement agreement.  And as a result of that process, parties have agreed on a cost-per-customer basis to the other CIS and customer care costs set out in the updated template at lines 4, 5, 6, 10b, 10c, 11 and 12.

MS. SPOEL:  Sorry, I am going to interrupt one more time.

So when you look on the line 17a, cost per -- total cost per customer before you do the smoothing, if you take the 2013 cost of $55.75, that includes $12.34 for the CIS revenue requirement, plus 22.34 for the customer care Accenture contract costs.

And then the balance of that 55.75 represents all of those other things that have been the subject of negotiation, and some of them are -- like the SAP licence fees, I presume, are pretty much a fixed amount, and others are something you can compromise on as to what your revenue requirement is?

MR. STEVENS:  Correct.

MS. SPOEL:  Okay.  Thank you.

MR. STEVENS:  So Enbridge's evidence addresses the nature and amounts that are forecast for each of the lines in the 2013 template that comprise the other CIS and customer care costs for 2013 to 2018.

At page 19 of the settlement agreement, there is a chart that sets out what is the nature of each of those line items, what is the nature of the costs in each of the line items.

As I explained a little bit previously, the way that the 2013 forecast was built up was by taking the actual known 2010 costs and then applying annual inflation factors to each of those lines, depending on the nature of the costs in that line, to come up with a 2013 number.

And through the discovery process in this case -- I took you to one example -- Enbridge provided examples and information about how each of these costs was built up.

With the benefit of all of that information, and in order to achieve an overall settlement, parties agreed to treat all of these costs together for the purpose of determining an appropriate amount to be recovered for 2013 to 2018.  In other words, there was no individual examination of each of these line items to come up with the perfect number for line 4 or the perfect number for line 6 and so forth.

What this means is that the same inflator is then applied to each of these costs over the 2013 to 2018 period, even if the underlying costs or inflation factors that apply to that particular line might be different.

Without prejudice to the position anybody might take in future proceedings, all parties believe that this approach to address all of these other costs for a six-year term is consistent with an IRM-type ratemaking approach.

What parties did in order to achieve a settlement was that they looked at the costs per customer for 2013 that Enbridge has forecast of $23.07, and an agreement was reached on an overall basis to reduce that by $2 a customer, so just a little bit less than 10 percent.

And the result is the 2013 cost per customer of $21.07 for all of the other CIS and customer care costs set out in the template, based on Enbridge's forecast of customers.

Now, as I've said, the $2 per customer reduction was a negotiated amount, and as such, it can't be tied to any particular lines of the template.

Enbridge believes, though, that the resulting costs per customer of $21.07 for all other CIS and customer care costs is good value for ratepayers, as it's actually lower than the corresponding amount approved for Enbridge's 2012 costs.  In other words, the negotiated outcome for these costs is a cost reduction from 2012 to 2013.

So taking all of the things that I have been discussing together -- and to your question, Ms. Spoel -- the way that parties derive the 2013 cost per customer is by adding together each of these three categories of costs.  You will see in the chart on page 20 of the settlement agreement that arrives at a 2013 cost per customer of $55.75.

This cost represents Enbridge's base cost for all of the items set out in the updated template for the 2013 to 2018 period.  And this base cost is approximately 3.5 percent less than Enbridge's forecast costs that were set out in the application.

In order to create future year costs per customers, all parties have agreed that the 2013 base cost per customer will be inflated by 0.6 percent each year from 2014 to 2018.

While everybody agrees that that number is a compromise number and ought not to be used as a precedent for future cases, everyone also agrees that the -- all of the information about inflation factors put forward in this case -- whether it be CPI, whether it be wage inflation, whether it be the inflation factors used in Enbridge's current IR plan -- all of that information lends support to the fact that a 0.6 percent inflator for this 2013 to 2018 period represents good value for ratepayers.  And it is, in fact, below most, if not all, of the forecasts of inflation that have been discussed in evidence in this case.

The result of --


MS. TAYLOR:  Sorry, I would just like to ask you a question about this mechanism, then.  I appreciate that all of the costs have been added up, but at the top of, I think, page 18 of the settlement agreement, you state that most or all of the costs are known in aggregate over the term.

So, in effect, if I understand how the smoothing mechanism worked in 2007, and if I understand how the smoothing mechanism has been used for the deferral account, it is the creation of, in effect, an annuity factor.

Rather than using an inflation factor descriptor for the 0.6, I am going to ask two questions then.

One is:  Can you explain the process of taking a per customer number and engineering the annual cost such that the cost per customer is increasing by 0.6 percent, when the customer -- number of customers themselves are growing by a number that is somewhat between 1.95 percent per annum and 2.0, but not a steady rate each year?

So is that also a smoothing exercise, then, to come up with the aggregate costs collected, given the fact you have a specific customer number that comes from your Accenture agreement and it is the per customer number that is growing by 0.6, as opposed to, necessarily, all of the costs in the lines above that?

So it is a smoothing exercise, is it not, in that first order to come up with a number on a per customer basis only increasing by 0.6 percent per year?

MR. STEVENS:  I think it is fair to say, to some extent, it is a smoothing exercise, in that the end result of, say, $735 million in revenue requirement could be achieved through a lower starting number and a greater inflator for each year for the six years.

MS. TAYLOR:  So if I understood in the 2007 agreement, you started with an initial payment per annum that you wanted to achieve, and you know what the aggregate number was that you needed to achieve at the end of the term and you created an annuity factor.

So what I am suggesting is what you are now terming as an inflation factor, 0.6, is an equivalent to an annuity factor.  You know what your aggregate 2013 number is.  You have both a customer number and starting number per customer.

You know what the 735 is that you want to achieve over the term, including the extension in 2018.  And, in fact, the 0.6 is in effect an annuity factor rather than inflation factor.  Is that correct?

MR. STEVENS:  I think it is a fair point, I mean, recognizing that 735 will not in the end be 735.

MS. TAYLOR:  Right.  Okay, thank you.

MS. SPOEL:  Mr. Stevens, is it also fair to say, given the CIS component drops during the course of the contract - the Accenture payment goes up a bit, CIS comes down more than Accenture goes up - there is an allowance of more than 0.6 percent for the "other", that category of other costs?


I haven't done the math to figure out what it is, but there is the other costs that you have lumped together and reduced by the two dollars per customer.  They're actually going to be going up by more than 0.6 percent in that base number over the term?

MR. STEVENS:  I think that is fair.  I also haven't done the math.  But to the extent reductions in CIS are not offset by the increases in line 10a, then that would certainly be true.

In fact, I think, as Mr. McGill points out, that can be seen in the chart at page 21 of the settlement agreement where the costs per customer for each of the three components is set out on a year-by-year basis.

I haven't done the math, but one could --


MS. SPOEL:  Right.

MR. STEVENS:  -- derive whatever the rate of change is for the all "other" costs from that chart.

MS. SPOEL:  Right.  Okay, thank you.

MR. STEVENS:  So actually turning to that chart, then, on page 21, it does set out how the costs per customer is derived for each of the years from 2013 to 2018.

That is a good jumping off point, then, to talk about how the annual revenue requirement will be determined each year.  That is at the bottom of page 21.

As you will have seen, all parties have agreed that it is reasonable and appropriate for Enbridge to recover the agreed upon total cost per customer in each year of this agreement from 2013 to 2018.

At a high level, this is done by multiplying the agreed cost per customer for any particular year by the most current forecast number of customers for that year, to arrive at an overall revenue requirement for that year.

And the intention is that that overall revenue requirement will be recovered in rates either as a Y factor in an IRM term, or otherwise as a pass-through cost in a cost of service rate-making regime.

As you will have seen, while all parties agree that the cost per customer is fixed and will not change during the term of this -- will not change from what is set out in the template during the term of this agreement, what will change is the customer forecast.

In order to create an accurate and up-to-date revenue requirement for each year, parties have agreed that it is appropriate to update the revenue requirement each year by taking the forecast number of customers and multiplying it by the appropriate cost per customer for that year.

The way we see that happening is that as part of Enbridge's annual rate case, whether Enbridge is doing a rate adjustment in IRM or whether it is doing a cost of service rate filing, Enbridge will file a forecast of customer numbers using the definition from the Accenture CCSA.

That forecast will be backed up by supporting evidence, as is currently the case for the customer addition forecasts that are filed as part of Enbridge's rate adjustment proceedings each year.

Enbridge's forecast of customers that it has filed can then be tested each year through a hearing process, and the resulting Board-approved customer forecast will be used to set the revenue requirement for that year when it is multiplied by the appropriate smoothed costs per customer set out at line 23 of the template.

MS. TAYLOR:  Sorry, just to be clear, because the number of customers in the Accenture CCSA is a slightly different number than that would be used for the Board's other rate-setting purposes, so you are suggesting that the Board is approving an aggregate forecast or assessing the reasonableness of the CCSA forecast, or both?

MR. STEVENS:  As a result of this agreement, I believe the Board would have to approve the reasonableness of a forecast using the definition from the Accenture CCSA.

I also assume that it is most likely that the Board would also have to approve a customer forecast using its traditional approach, because that would be part of the rest of the rate-making regime.

MS. TAYLOR:  And --


MR. STEVENS:  I would assume, without knowing, that one would simply be a modification of the other, so that the evidence supporting both would be in the same place.

So I would hope that it wouldn't be a particular additional burden to have to approve both, but I don't think it is fair to say that the number of customers using the Accenture CCSA could be applied to determine this revenue requirement, and yet it would not be open for the Board to approve or not approve.  I think it is something that would have to be put to the Board for approval each year.

MS. TAYLOR:  I just wanted to be clear.

MR. STEVENS:  So turning, then, to page 22, this is where the smoothing aspect of the agreement is discussed.

As you will have read, the revenue requirement determination process that I have just described would apply each year, but for the fact that intervenors have identified that this approach would result in a 2013 increase in revenue requirement that is relatively higher than ratepayers would prefer.

And although I didn't get into it in my discussion today, the main reason for that, as you will have read, is because the 2007 to 2012 period includes the smoothed benefit of the tax shield for the CIS asset.  That will all have been used up by 2012, leading to a jump in smoothed revenue requirement between 2012 and 2013 that was recognized way back in 2007, but the effects of which are now being felt.

For the purposes of settlement, parties have agreed on a different pattern of recovery for the revenue requirement in the 2013 template from the cost per customer that I have just described.

This pattern of recovery will lessen the impact of the increased revenue requirement in 2013 and provide for rate stability in the years up to 2018.

And it is effected by creating a lower cost per customer for 2013, and then increasing that cost per customer over the remainder of the term in a manner that will allow Enbridge the opportunity to recover the full agreed-upon $735 million revenue requirement.

The total cost per customer without smoothing that's been agreed upon for 2013 is $55.75.  For the purposes of smoothing and limiting the impact of the increase from 2012 to 2013, parties have agreed to reduce that cost to $53.50.  And the impact of that versus 2012 is set out at page 23.  That amount will then be increased by 2.2 percent each year up to the year 2018.

So the resulting smoothed cost per customer to be recovered by Enbridge is set out at line 24 of the template and reproduced at page 23 of the settlement agreement.

And it is this smoothed cost per customer that will be used as part of the rate-setting process each year to set the CIS and customer care revenue requirement, because it is the smoothed number that will be multiplied by the updated customer forecast each year.

Now, as you are aware, the smoothing of the revenue requirement and the costs per customer, such that Enbridge is recovering less in the earlier years than its agreed-upon costs, will result in a mismatch of costs and revenues for Enbridge.  Parties have agreed that Enbridge should be allowed to create a deferral account to track its forecast recovery of revenue requirement for CIS and customer care services versus its forecast allowed of costs for those services and to charge interest on that amount.

The details of the deferral account approach are set out at pages 23 and 24, but I thought that, rather than going through the details, it might be helpful to provide you with some examples of how the deferral account would work.  And to assist in that regard, I have provided a handout this morning.

MS. CONBOY:  Thank you.  We have a copy.

Ms. Sebalj, could you give it an exhibit number, please?

MS. SEBALJ:  Yes.  It's KS1.2.

EXHIBIT NO. KS1.2:  Document entitled "Rate Smoothing Deferral Account: Impact of changing customer numbers"

MS. CONBOY:  Does everybody else have a copy of that sheet?

MS. CONBOY:  Mr. Stevens, before we start, I notice that the clock up here, it has either been a very long day or it is not working.  And it is quarter to 11:00 right now.  We were going to take a break around 11:00 o'clock if that suits everybody.

So I leave it with you as to whether you want to forge ahead with this example or whether it would be better to take a break now.

MR. STEVENS:  Well, I am in your hands, but I would be happy to forge ahead with this.  I didn't have more than another couple of minutes of comments, actually, in terms of the things that I wanted to cover.

MS. CONBOY:  Well, I just broke my glasses.  So actually, let's take a break right now.

MR. STEVENS:  Very good.

MS. CONBOY:  Thank you.  So we will come back in about 15 minutes.

--- Recess taken at 10:44 a.m.

--- On resuming at 11:10 a.m.

MS. CONBOY:  Thank you.  Please be seated.

Mr. Stevens, are you ready?

MR. STEVENS:  I am.  Thank you.

So what I would like to do is just spend a little bit of time talking about the rate smoothing deferral account that parties have agreed upon and how it would work.

As you will have seen in the settlement document, the basic idea is that this deferral account would capture the difference between the amount that Enbridge would collect each year, based upon the agreed costs per customer at line 17a of the agreement, and the amount that Enbridge will actually collect each year, based on the smoothed costs per customer at line 24 of the agreement.

Because the way that -- because the smoothed cost per customer is lower than the actual cost per customer in the early years and the reverse happens in later years, this means that the balance in the deferral account will grow over the first three years or so, and then will be drawn down over the later years.

As you will have seen, Enbridge would be entitled to charge interest at a fixed annual rate of 1.47 percent each year, with the intention being that Enbridge would then clear the amounts built up as interest each year, along with the clearance of its other deferral and variance accounts.

The principal balance in the deferral account would not be cleared each year, though.  It would be rolled forward, so that it would build up for the first years, and then as it continued to roll forward it would be drawn down.

What we have done is we put together some examples of what would happen in this deferral account, depending on different scenarios in terms of the numbers of customers.

The first scenario in Exhibit KS1.2 sets out how the deferral account would work, assuming that the customer numbers are exactly the same each year as have been forecast in line 17 of the template.

What you will see there is that, based on those customer numbers, the balance in the deferral account builds up through to the end of 2015, and then from 2016 to 2018 the balance is drawn back down.

And the result at the end of the day is that there is no amount left in the deferral account, because any of the under-collections that Enbridge has experienced in the early years have been exactly offset by the over-collections in the later years.

As you will see from lines 4 and 5, based on the use of Enbridge's forecast number of customers, the total revenue requirement recovered will be $735 million.

Now, turning then to scenario A, we have set out a situation where Enbridge's forecast of customers was -- is consistently lower than what would be determined through updating that forecast each year.  So, effectively, what we've done is we have added 10,000 customers per year to the forecast of customers set out in line 10a -- or 17a.

The result, as you'll see, is essentially the same in terms of the pattern on which the deferral account builds up and gets drawn down, but the end result is that there is a slight balance remaining in the deferral account.

The reason for that is there is not a precise match between the over-collections in the later years and the under-collections in the early years.

According to the settlement agreement, any remaining balance in the deferral account at the end of 2018 is either to be credited to ratepayers or to Enbridge, depending on whether it is a positive or negative number.  In this scenario, a small amount would be credited to ratepayers.

The other thing you will see from this scenario is that by adding 10,000 customers a year, the total revenue requirement recovered is slightly higher than the $735 million assumed, given Enbridge's current forecast of customers.

Scenario B, which is set out below, puts forward a situation where the number of customers each year is approximately 10,000 fewer than Enbridge has forecast.

Again, the pattern of the deferral account building up and drawing down is similar, but the numbers are a little bit different, and the end result is still a small amount to be returned to ratepayers.

As you will see in lines 18 and 19, the total amount recovered in revenue requirement will be a few million dollars less than the $735 million that is assumed, given the forecast of customers in the template.

MS. CONBOY:  I assume the credit that you have got in these two examples is really as a result of you are evenly adding on 10,000 customers, and then you also have the impact of the smoothing.

So it could go the other way, is what you said.  It is by virtue of the example that you used that we ended up with eight and 14?

MR. STEVENS:  That's right.  I think if you had a more lumpy example where in the early years where Enbridge is under-recovering, the number of customers becomes higher than forecast, and then in the later years when Enbridge is over-recovering the number of customers is lower than forecast, then you would end up with some sort of credit to Enbridge at the end.

MS. CONBOY:  The point you are make to us is that this deferral account is capturing the impacts of the smoothing and the impacts of the differential in the number of customers?

MR. STEVENS:  That's correct.

MS. CONBOY:  Thank you.

MS. TAYLOR:  Just to be clear, though, the number of customers that was just mentioned by my Panel member refers to the change in the forecast and not actuals.  So Enbridge still retains some residual risk versus forecast number of customers versus actual per annum; is that correct?

MR. STEVENS:  That's right, given that the forecast would be set sometime in advance of whatever year the forecast applies to.

MS. TAYLOR:  Right.  Thank you.

MS. CONBOY:  Could I just ask you how we started with the forecast number in 2013?  I don't think it makes a material difference, but I just want to see where it was derived from, because I see the number in the column for 2013 both in the template in which you have reproduced here, the number of customers is less than in 2012.

I would think intuitively it goes the other way.

MR. STEVENS:  The number of customers that is set out in line 17 of the template, it includes the Board-approved number of customers from the previous template for 2007 through 2012.  So that forecast was set back in 2007, or so.

So what was -- when the 2013 template was created, everything was updated.

MS. CONBOY:  Oh, so you just reset it?

MR. STEVENS:  That's correct.

MS. CONBOY:  Back in 2007, you overestimated the number of customers that you would have for this purpose in 2012?

MR. STEVENS:  That's correct.  So if you were to look at Exhibit B-5-2, I believe, that is a version of the template that contains Enbridge's updated estimates for the 2007 to 2012 period.

What you would see in that -- I haven't pulled it up, but I am quite sure what you would see is you would see that the 2012 number in that template, which is Enbridge's current 2012 forecast, will be lower than the 2013 forecast that is in this template here.

MS. CONBOY:  Thank you.

MR. STEVENS:  Turning then to the next section of the settlement agreement at page 24, this is where the bill impacts from the settlement agreement are set out.

What you will see is that everybody -- all parties have agreed that the bill impacts are reasonable and appropriate, and that -- I am at the top of page 25:
"On an absolute basis, based on Enbridge's current forecast number of Customers for 2012 and 2013, the increase ... will be $4.44 per customer from 2012 to 2013 ..., and then approximately $1.20 per year ... for each year from 2014 to 2018."


And the chart that is set out just below sets out numerically the amount of the bill increase each year, and also how that translates to a percentage increase on a customer's overall bill, whether that is done on a T-service basis, or that is done on the basis of sales customers' impact.

MS. CONBOY:  Thank you.

MR. STEVENS:  The final section of the terms of settlement deals with a number of items that weren't -- aren't central to the derivation of the costs per customer and revenue requirement for the CIS and customer care costs in the template, but still do bear on the settlement.

As you will see, they deal with non-utility costs, a Z-factor-type approach, and the use of the new CIS for other revenue-generating opportunities.

Unless you would like me to, I don't propose to go through those in detail.

MS. SPOEL:  I have one question, Mr. Stevens, about the other revenue opportunities.

We notice that the sharing of those revenues from any of those opportunities is to be agreed upon through the consultative and brought to the Board.  I guess we just wanted to make sure that the parties understood that the Board might need to approve -- regardless of whether the parties agree, the Board would need to approve the method of that sort of -- those cost-sharing arrangements and perhaps the -- and the cost allocations involved, as well.  It is not entirely up to the parties to do it and only apply to the Board on default of seeking agreement.

We just wanted to confirm that that was understood bring Enbridge.

MR. STEVENS:  Thank you.  I think that is a fair comment that we will keep in mind, if and as these opportunities arise.

MS. SPOEL:  Thank you.

MR. STEVENS:  The balance of the settlement agreement -–

MS. CONBOY:  I am too slow on the uptake checking my question list.

So the use of the deferral account that you kindly provided the numerical example to does shield Enbridge from volatility that would otherwise occur in customer account, which, in the context of rate-setting, is normally a risk that for the most part is borne by the shareholder.

Why is it appropriate in this instance that Enbridge is, in effect, immunized from a good portion of the potential volatility in revenue requirement arising from changes in the customer -- the actual versus forecast number of customers?

MR. STEVENS:  My interpretation or understanding of the way that the deferral account works is it smooths -- it helps Enbridge from being exposed to volatility, in terms of customer count, solely in respect of the impact of smoothing.

So in other words, if the number of customers is vastly different, up or down, from what is forecast, the total revenue requirement to be recovered by Enbridge will go up and down, and that can be seen in each of these examples.

So Enbridge isn't shielded for the most part from the impact of customer counts going up and down from what is forecast.

Where Enbridge is shielded is to the extent that Enbridge has extended the benefit to ratepayers of lower costs per customer in the early years, in order to allow for some sort of rate smoothing -- so that, in other words, ratepayers are paying less than the agreed-upon costs in the early years -- Enbridge won't be harmed in the later years because the customer count number is greatly different than what was forecast.

MS. TAYLOR:  But even before the smoothing mechanism, because we're stating everything based off of a customer number, which is a forecast and trued-up annually, there still is protections.  Someone is shaking their head.

MR. BUONAGURO:  Sorry to jump in here.  I think I understand the question.

There is never a true-up of customers from forecast to actual.

MS. TAYLOR:  No, I am not saying actual, but in the year that you are actually determining the revenue requirement.  So for fiscal 2003 or 2004, you are going to come in for a process with, potentially, an updated forecast, which I presume, if Enbridge is good at running their business, will substantially eliminate over the coming 12-month period a good portion of the forecast risks that they might otherwise occur if you are setting that number four years in advance of the year you are going to charge.

That is the question.  So you've got the opportunity to rebase your forecast just immediately before the commencement of the next ratemaking year, and that is the risk I am talking about, not actual.  I understand that.

I think you have answered the question.

MR. STEVENS:  Thank you.  I just don't want to leave any impression that, from our perspective, Enbridge has somehow been immunized from risk of customer numbers changing.

From our perspective, there is a risk to Enbridge that it is prepared to bear, but something like -- to take the CIS costs, for example, those won't vary based on numbers of customers.

However, if the forecast number of customers turns out to be overstated, Enbridge will collect less in revenue requirement for CIS than it would have recovered under, say, cost of service or under a different approach.

So Enbridge does bear that risk, and that risk is not in any way offset by this deferral account approach.

This deferral account approach gives Enbridge the benefit of interest on amounts that it under-collects in the early years, and there is the possibility that it gives Enbridge some ability to collect what you can see will be a very small amount at the end of the term, if the rate of growth of customers wasn't exactly as forecast.

MS. SPOEL:  Mr. Stevens, is it fair to say -- I am just picking up on Mr. Buonaguro's point -- is it fair to say that you are not truing-up to actuals each year.

So the risk that Enbridge is taking is that year by year, your forecast might be off, but you are not taking the risk that you are forecasting now for six years in the future.

I mean, you are insulated from that risk.  The number you are forecasting today for 2017, they're not accepting a risk that number is going to be wrong.  But you are accepting the risk -- when you get to 2016, you are accepting the risk that your 2017 numbers might not be quite right?

MR. STEVENS:  The second part -- I think the risk exists in both, and the reason I say the risk exists in both is because the costs per customer that's been built up in this case is all premised on Enbridge's current forecast of customers.

MS. SPOEL:  Right.  It's because some of them are fixed costs, like the CIS system.  They don't all vary with the customers.  So there is some element of risk there.

MR. STEVENS:  Sure.  So to the extent that it is a variable cost, then there is no risk either way.

MS. SPOEL:  There is also a potential benefit?

MR. STEVENS:  Absolutely.

MS. SPOEL:  If you have fixed costs and your customer numbers go up more than you expect them to, then you will benefit from that, but maybe not in other areas.

So it's...

MR. STEVENS:  That's correct.  In the same places that there is fixed costs, where Enbridge would lose if the customer numbers turned out to be lower than forecast, Enbridge would win if the forecast numbers are higher.

MS. SPOEL:  Right.  Okay.  Thank you.

MR. STEVENS:  As you will have seen, the balance of the settlement agreement addresses the evidentiary basis for it and the differences between this settlement agreement and the 2007 settlement agreement.  And the final sections essentially take the terms of settlement, which I have just described, and explain how those terms of settlement apply to each of the issues set out on the Board's Issues List.

So unless you would like me to, I don't propose to go through any of those sections in detail.

MS. CONBOY:  I think we are fine.  Thank you.

MS. TAYLOR:  I think we have one more remaining question.

MS. CONBOY:  Go ahead.

MS. TAYLOR:  We have one more question, and I think, Mr. Stevens, you touched on it briefly.

And it relates to the CCA taxation treatment in the first, what I will call first term or phase of this agreement versus the second phase, which is currently before us.

I think you referred to this, but I would like you to confirm that approximately 75 million of the 165-and-a-half-million increase in costs of the services currently before us is directly attributable to the provisions of the 2007 settlement agreement.

So that agreement did three things.  All parties agreed, in that agreement that was subsequently approved by the Board that the CCA allowance would be recognized over the 2007-2012 period for CIS.

All parties in that process did acknowledge that the CIS-related revenue requirement would increase substantially at the term of that -- at the expiry of that term of that 2007 settlement agreement, and that all parties at that time agreed that Enbridge would recover the full revenue requirement associated with the new CIS over the 10-year economic life.

And so I took from the evidence that 14-1/2 million of revenue requirement per annum, over the 2012 to 2018 period, was directly attributable to the taxation treatment of the first term of this agreement, which is, I guess, more precisely in the order of about $72 million, but I rounded it; is that correct?

MR. STEVENS:  I think it is probably almost correct.

The one thing I would note is that in line 3 the CIS revenue requirement actually does go down a little bit over the years.  So I am not sure it would be a linear $14 million a year.

MS. TAYLOR:  No, okay.

MR. STEVENS:  Conceptually, I agree with you.

MS. TAYLOR:  The evidence said 14-1/2 million per annum.

MR. STEVENS:  Well, then that would have been checked by Enbridge, so I have no reason to doubt what the evidence said.

MS. TAYLOR:  Thank you.

MS. CONBOY:  Any more questions?

MR. STEVENS:  In conclusion, as you will expect, Enbridge requests Board approval of the settlement agreement, which includes the mechanism for setting customer care and CIS revenue requirement for 2013 to 2018.

We believe it represents a good outcome for ratepayers and the company, and it's been negotiated through a comprehensive and transparent stakeholdering process.

Enbridge worked closely with intervenor representatives in a collaborative fashion that allowed all parties to fully test and understand the evidence, and to agree upon modest and predictable cost increases for a large portion of Enbridge's operating budget.

In our submission, the process that was followed, the outcome that was achieved and the unanimous support of all stakeholders to the settlement agreement all evidence the fact that approval of the settlement agreement is in the public interest.

MS. CONBOY:  Thank you very much.

MR. STEVENS:  Thank you.

MS. CONBOY:  It is 11:30 right now.  We are going to break until 2 o'clock and come back with -- see if we can reach an agreement and come back with a decision.

Thank you.

--- Luncheon recess taken at 11:30 a.m.


--- On resuming at 2:00 p.m.

MS. CONBOY: Thank you, everybody.  Please be seated.  I see not everybody is staying till the bitter end.
DECISION:


MS. CONBOY:  Through this application, Enbridge is seeking approval of its annual revenue requirement, cost base, and then smoothed for customer care and customer information system services for the year 2013 to 2018. 

Enbridge filed a settlement agreement on September 2nd indicating that all parties to this proceeding have agreed to an overall customer care and customer information system revenue requirement of $735 million for those six years, with total annual increases and costs per customer of 0.6 percent per year and mitigation of the increase in cost per customer from 2012 to 2013 through a smoothing mechanism.

The six-year term of the settlement provides the company with a degree of predictability, and ratepayers with smooth and reasonable rates as they relate to the components of this revenue requirement. 

The Board has reviewed the settlement agreement and with further benefit of today's presentation, finds it to be in the public interest. 

The quality and detail of the supporting evidence is sufficient to allow the Board to make findings on all issues.  As a result, the Board accepts the settlement agreement in its entirety.

We would like to commend the parties on the collaborative work they've done that has ultimately led to achieving a comprehensive settlement, on what we can only imagine were likely contentious issues.

We, however, would like to clarify two things.  The first is with respect to the language in section I that was entitled in the settlement agreement "Other Items".  Enbridge has today confirmed to us that any proposals relating to the potential sale of CIS services to third-party organizations will require approval of the Board, including cost allocation and revenue-sharing.

The second relates to the more generic issue of timing of applications filed with the Board.

It appears to us that this application could have been brought forward much earlier than it was.  We appreciate the deadlines that were facing Enbridge, but the timing of the filing presented significant issues for the Board, which in this instance we were able to overcome.

In the future, however, the Board would appreciate longer lead times in order to consider these types of applications.

Turning, then, to cost awards, eligible parties seeking award of costs shall file their cost claims in relation to this proceeding by September 22nd.  Enbridge may raise objections to any aspects of the costs no later than September 29th. 

Now, we do appreciate that Enbridge also typically files a response with the Board when they do not object to -- when they do not have any objections to cost claims.  And I thought I would advise you that this practice does assist the process, rather than letting the clock run out, if you will.

Any party whose cost claim was objected to, however, will have until October 6th to make its reply submission. 

Unless there are any questions, we are adjourned for the day. 

MR. STEVENS:  Thank you. 

MS. CONBOY:  Thank you. 

--- Whereupon the hearing adjourned at 2:04 p.m.
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